
Modulus 2 Users Double Sided Workspace 1500mm x 750mm
Assembly Instructions



Modulus 2 User Double Sided WorkSpace Assembly Instructions2

Modulus 2 User Double Sided WorkSpace
Components List

STEP 2:

1

19
16

4

7

1221

9

2

14

20

10 8

3

11

18

15

5

617

13

Components QTY Part No.

1 Die Cast Upper Wrist (A) x4 MODZA06

2 Top Rail FWTOPRAIL

3 Bottom Rail FWBOTRAIL

4 Leg-pole Tube Ø51 x4 MODZA22-695

5 Top Rail Cap x4 MODZA18

6 Large Foot x4 MODZA12

7 Cross Connector x4 MODZA01

8 Bottom Tee Connector x2 MODZA07

9 Collar Plug x4 MODZA15

10 Tee Connector x4 MODZA09

11 Gasket x4

12 Foot Glide x4 MODZA25

13 Plastic Support x2 MODZA16

14 Width Kit x2 AU-FW....SET

Screws QTY

15 M10 x 30mm x4

16 M8 x 25mm x4

17 M5 x 30mm Self Tapping x8

18 M5 x 20mm Self Tapping x4

19 M8 x 16mm Grub Screw x8

20 M10 x 110mm x4

21 M8 x 16mm x18



Modulus 2 User Double Sided WorkSpace Assembly Instructions 3

Modulus 2 User Double Sided WorkSpace
Assembly Instructions

STEP 1:

8 - M8 x 16

21

6

21



Modulus 2 User Double Sided WorkSpace Assembly Instructions4

Assembly Instructions

STEP 2:

Modulus 2 User Double Sided WorkSpace

21

6

218 - M8 x 16



Modulus 2 User Double Sided WorkSpace Assembly Instructions 5

Assembly Instructions

STEP 3:

Modulus 2 User Double Sided WorkSpace



Modulus 2 User Double Sided WorkSpace Assembly Instructions6

Assembly Instructions

STEP 4:

20

Modulus 2 User Double Sided WorkSpace

4 - M10 x 100



Modulus 2 User Double Sided WorkSpace Assembly Instructions 7

Assembly Instructions

STEP 5:

4 - M10 x 30

15

15

Modulus 2 User Double Sided WorkSpace



Modulus 2 User Double Sided WorkSpace Assembly Instructions8

Assembly Instructions

STEP 6:

19

21

Modulus 2 User Double Sided WorkSpace

4 - M8 x 16
Grub Screw

2 - M8 x 16



Modulus 2 User Double Sided WorkSpace Assembly Instructions 9

Assembly Instructions

STEP 7:

2 - M8 x 25 4 - M5 x 30
Self Tapping

Modulus 2 User Double Sided WorkSpace



Modulus 2 User Double Sided WorkSpace Assembly Instructions10

Assembly Instructions

STEP 8:

Modulus 2 User Double Sided WorkSpace

2 - M8 x 25

4 - M5 x 20
Self Tapping

8 - M5 x 30
Self Tapping

17

18

16



Modulus 2 User Double Sided WorkSpace Assembly Instructions 11

STEP 9:

Assembly Instructions

Modulus 2 User Double Sided WorkSpace



Sydney  02 8188 2732

Melbourne  03 9111 0315

Brisbane  07 3733 1923

Adelaide  08 7111 0810

Perth  08 9468 2707

info@olgoffice.com

myolg.online  |  olgoffice.com  |  officedesigner.net  |  motionoffice.com 


